The twin applet https://paulba.no/twins.html run with the parameters:

Acceleration distance: 1.0 light year, acceleration 1c/year (ca. 1g)

This means that twin A is always inertial while twin B accelerates away from twin A with the proper
acceleration 1c/y for 1.0 light years measured in A’s frame, he is then coasting for 8 light years, then
he is accelerating at 1c/y towards A. He will then be instantly stationary in A’s frame when he
reaches 10 light years, when he will begin moving towards A. When he is 9 light years from A he will
stop accelerating and will coast to 1 light years from A, when he will start accelerating at 1c/y away

from A until he is stationary and co-located to A.

Measurements in A’s inertial frame of reference:

c peryear]

distance [LY] 1 =
=——— | 1.0 1¥ 1.00 c/y[lA view v 'start Reset
11 T1 © ; ; " " . " " " .
1 2 3 5 6 7 8 9 10LY
Relative rate of B's clock as observed by A, dtB/dtA = 1.0000 Velocity of B as observed by A = 0.0000 o
[rate] § atB/ata [c] # B-velocity
A-tine
10 1.00
tv]
0.75
0.8
0.50
0e 0.25
A-time
0.00
tv]
23 -0.25
-0.50
0.2
-0.75
0.0 -1.00
0.00 3.18 6.35 9.53 1270 15.88 19.05 2223 25.40 ‘o0 .18 6.35 9.53 1270 1588 19.05 22.23 2540
BUINIng: m— Burning: s —
Clock B as observed by A = 14.51 years Bcceleration of B as observed by A = 1.000 c/y
[¥] B-time [c/¥] # acceleration
14.50 1.00
0.75
11.60
0.50
4.5 0.25
A-time
0.00
v
5.80 S
0.50
2.90
0.75
A-tine
0.00 -1.00
0.00 3.18 6.35 9.53 12.70 15.88 19.05 22.23 25.40 [¥] g 3.18 6.35 9.53 12.70 15.88 19.05 22.23 25.40
Burning: s Burning: s — —_—

Measurements in B’s frame of reference:
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